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1) Find the value of [{-3-%)2 =+ (_i)B]—l

€Y
C) 4 B l L
d -2 ( - | 3 =
1
. -
O |
2) IfRx=y=2z=44 and 6x - 3@“”(’ 32 3) Line L passes through the points as shown
a) 119 £ abov
{)(.—3&5—-\5?:]5{2 N’
@ -119 ~S which of the following represents the equation
c) 132 /VS 3 of the line?
5-3%* '
d) -132 “w_
a) _2b=-h(x—t) ,hx 3 h¢
1 — o3& = 2 E Y t2-t Lt +4-+
h{x-t)
-1 s ¢ o) y-20=—7F—
c) y-20= ht(fff)
d y+2b= ht(f_—f)
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4) What is the value o< 94 2v5 + V9 —2\/‘5?)

@ /18+2 61 qﬁg.,,af‘«f‘ +q9-%s

J18—2:/61
c) 18 + 2v61
d) 18 — 2v/61

RIEE

5) The slopes of the two

ines with slope my and m; are

@)ml*m2=-1 o

b) 2 =-1

c) mi+mz=-1

d) ml-m2=-1
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X Y
C.5 1

T 1 0.5 L}
15 1/3

6) Which if the following in true based on the

given table above:

7{ y varies directly with x , K=0.5
A~ y varies directly with x, constant K = 2

c) yvaries inversely with x, constant K = -2

Q) y varies inversely with x, K=0.5

7) A pentagon with perimeter equal 153cm and
the ratioof itssides 2:3:3:5:4,
Find the length of th@mallesﬁide?

= I
qsRISEFG™Y 2 | S
b) 21 .

2 b 153

c) 45
d) 36 Z '{,[634 :) ?}
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JoSe =37 . 3N e
| © 10) If sin’x the value @
71050 0.3 ﬁ,, < + Gox

B Gr et
6
’_/\_/"\
=l . R -
3
S —
Z —
6 3 7.1 +1S
O A 4+ 6.9
B i
A "2
9) Jamil has 10 shirts, Hana has 4 less than Ahmed 11) ABCD is a square with side length = 6, G, E,
While Jﬂil has 6 more than Hana, How many F are midpoints,/AH )= i AB
shirts they have together? Find the area of shaded region?
3
a) 8 . a) 20.565
ST A - b) 17.7
v
o@@- ¢+ i | C<T) 15.435
c) 12 ¢ B X
] d) 123
d) 22 i
Y JX T )% =772
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12) If 100 km/h is equal @ter/ min,
What is the val A

m
a) 1 K
b) 2
o L
d) 4 | % b

14) A horizonta @is cut from the

prism above. Which of the following represent

the shape of that cross section?

3(6-D) = 2o-Yy

13) The prism above consists of a Pyramid with

height 2cm and cuboid its heightis 4 cm and o) v

has a base its side width equal 6.8cm and .
length equal thrice the width. What is the

volume of the prism? c)

a) 100 5SY 3 +1 293

c) 567

15) What is the product pf the solutions of the
d) 554.88 equation below?

2x2 + 2x + 3
g - '( >
L e
b) 1.5 P :
c)1
@ d) -1

P w-h Trh ‘
T X —— e
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G
6 \ 276\
54.\4-}—(3 Banan
-\2*7—*’6 k '

16) What is the Probability of Banana?

g

@ 3/16 Y .

b) 5/16 g 55 g
) 5/ 0% -
c) 0.635

d) 0.27

2/t o
v S

5 @A
- ﬁ 1 6
= /s_ 6 2S Banana

17) What is the percentage of Crange?

a) 0.15

c)) 15.625
d) 27.125
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18) If vx — 2 — a = 5. What s the value of x

when a =E3§

.
19) If 243 1 =27

3 -7

o

/7~

i3

&S

23 Find the value of x:
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20) 2 =37 3. 23)If t # 2 and é g, Find the valu
Which of the following could be
the value of x? e 7 2 a) 4 5/(4[‘ 2) =2t
[PC. =Y -
@ 7 et
_(_ . Jo = 2
b) -23.5 S 3 c) 16 R
/} y S/
c) -24.5 / d) 19 G4-7 L=lo
d) -23.9 b 3=l
b > -G iy
oA
_26
x @ -5
= -1
21) 1 0g 2y x2x-1 N 24) If 2x Ly = -1and 2y* = 8,
Find the least value of x that satisfying the what is the value of x, when y<0?
inequality above. » 2_ g | /\’
@05 Qy,/: a) -0.5 M‘-’-__{ ‘7.7['7"2':—(
' - (91 et | a0
b) 2.5 a.X= - - 3
C) 1.5 d—'L C)z "k-; tﬁ 2X =
"7 (= '/}
d) 3.5 d) 1 - 2 i
Agree | Disagree
22) What is the sum of the solutions of the Female ¢ 3 |
equation below? Male @
: - -
) ) y2_3 25) What is the probability of nlrle.
Pa = 200 +§¢.
@ 3 a) 0.5 ﬁ‘y)’-_‘- "'7_;_-’4— SR —
b) 5 O X b) 0.45 > )S+ 3¢
c) 0.23 60 3 20
c) 2 d) 0.53
d) 5 - e S
x/,+ 517_ 23+ x%+9
SUum -S
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26) A dice is tossed two times, what is the

probability that the sum of two time

)1/18 ~ 673 _

~u,s 6x6
- oy

c) 1/36

d) 9/24

Adults Children

Day 1 720
Day 2 130
Day 3 170

Day 4 211

) 23|
27) The table above shows the number of tickets

sold during four days as shown, Adult tickets

costs }_2__$, Child tickets cost 7.55, What us the

amount during the four days?

a) 16320 /BKOX,*L‘A\‘ [23] X3 5

b) 9232.5

@ 25 552.5

d) 230000
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2.2 9.5

(",7/7'_. 3.211

28) In the triangle above, angle B is 90°, BD is
perpendicular to AC, Find the value of BD + DC

a) 13.6 .ot T

b) 4.6
c) 18.2

<>

29) 25N, W, A, 12, 24,92, 33, 30

W,12,15 ,13 {2)23 23, 18, 3o

—

For the set of data apbove if the median i@

range is b, max value is c. what is the value of

lab — bc|?

@ 171 @& =2/

b) 392 | - 3o
c) 750 C=2° g ¥
d) 1280

/ 2(x19 - )n’s.l

b

30) Abdo th¥w 10% of his books, gave his sister 12,

donate 20 kept 4 with him, how many books

e ?
he had originally: L2 +20 Y = b
) 0. Jo
a) 32 :
5 b
c) 36 PR
S bm
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